

GRAVITY GAMING APOLLO DESKTOP





Created by:

Mitchell Brackett
Gravity Gaming by ByteSpeed

Prepared for:

Crystal Sizemore
Chanute Public Schools USD 413



Q-97183-S4D3

Expiration Date: 6/22/2025

Prepared for:

Chanute Public Schools USD 413 Crystal Sizemore 1501 West 36th St Chanute, KS 66720

Prepared by:

Mitchell Brackett
Territory Manager
(218) 227-0478
mbrackett@bytespeed.com

QUOTE PRODUCTS	PRICE	QTY	SUBTOTAL
.GRAVITY GAMING BY BYTESPEED ESPORTS SOLUTION	\$0.00	10	\$0.00
GG APOLLO B760M	\$1,750.00	10	\$17,500.00
CASE, COOLER MASTER NR400 mATX/mITX 1x5.25/4x3.5/4x2.5, 2xUSB3.0, NO PSU, MCB-NR400-KG5N-S00	\$0.00	10	\$0.00
MOTHERBOARD, ASUS PRIME B760M-A AX mATX, 2xHDMI DP 2xUSB3.2 4xUSB2 1700 DDR5, PRIME B760M-A AX	\$0.00	10	\$0.00
PROCESSOR, INTEL I5-14600K 14-CORE, 2.6-5.3GHZ, LGA 1700, BX8071514600K	\$0.00	10	\$0.00
HEATSINK, BE QUIET! PURE ROCK 3 BLACK, 120MM FAN 150W TDP, LGA 1200/1700 AM4/AM5, BK039	\$0.00	10	\$0.00
MEMORY, KINGSTON FURY BEAST, 32GB DDR5 CL30 6000MT/s RGB XMP (KIT QTY 2 16GB), KF560C30BBAK2-32	\$0.00	10	\$0.00
SSD, SAMSUNG 990 EVO PLUS 1TB PCIE 5.0 NVME M.2, MZ-V9S1T0B/AM	\$0.00	10	\$0.00
VIDEO CARD, MSI 5060TI VENTUS 2X OC PLUS 16GB GDDR7, HDMI DPx3, MIN 600W, G506T-16V2CP	\$0.00	10	\$0.00

POWER SUPPLY, BE QUIET! PURE POWER 12 750w 80 PLUS GOLD ATX 3.0, FULLY MODULAR, BN504	\$0.00	10	\$0.00	
LICENSE, WINDOWS 11 PRO STANDARD NAO OLC OA3, KQ6-00171	\$0.00	10	\$0.00	
LOAD, WINDOWS 11 PRO EDU	\$0.00	10	\$0.00	
INSTAPAK QUICK ROOM TEMPERATURE PACKS, #10, 15x18", S-11815B	\$0.00	10	\$0.00	
FREE SHIPPING FOR GRAVITY AND VR DESKTOPS	\$0.00	10	\$0.00	
STANDARD 5-YEAR WARRANTY	\$0.00	10	\$0.00	
APOLLO UPGRAI	DES			
Custom Frosted Vinyl Decal (Requires you to provide us with a high quality PNG or Vector file)	\$25.00	10	\$250.00	
GAMING MONITOR OPTIONS				
O NO MONITOR	\$0.00	1	\$0.00	
O ASUS 24" LED IPS 1ms 165hz 1920x1080	\$250.00	10	\$2,500.00	
ASUS TUF 27" IPS 2560x1440 165HZ 1MS	\$325.00	10	\$3,250.00	
O ASUS 24" LED, IPS 1ms 1920x1080 270hz	\$325.00	10	\$3,250.00	
GAMING HEADSET OPTIONS (SEE SPECS	IN ATTACHEM	ENT BELOW	/)	
O NO HEADSET	\$0.00	1	\$0.00	
LOGITECH G432 HEADSET, 981-000769	\$50.00	10	\$500.00	
O LOGITECH G PRO X GAMING HEADSET 981- 000817	\$130.00	10	\$1,300.00	
O LOGITECH G733 WIRELESS HEADSET, 981-000863	\$150.00	10	\$1,500.00	
GAMING MICE OPTIONS (SEE SPECS IN ATTACHEMENT BELOW)				
O NO MICE	\$0.00	1	\$0.00	
○ LOGITECH G203, 910-005790	\$40.00	10	\$400.00	

O LOGITECH G305 WIRELESS MOUSE 910-005280	\$55.00	10	\$550.00
LOGITECH G502 HERO MOUSE, 910-005469	\$70.00	10	\$700.00
O LOGITECH PRO X SUPERLIGHT WIRELESS GAMING MOUSE 910-005878	\$150.00	10	\$1,500.00
GAMING KEYBOARD OPTIONS (SEE SPEC	S IN ATTACHEM	ENT BELOW	<i>(</i>)
O NO KEYBOARDS	\$0.00	1	\$0.00
O LOGITECH G213 KEYBOARD, 920-008083	\$60.00	10	\$600.00
LOGITECH G413 TKL SE MECHANICAL KEYBOARD 920-010442	\$80.00	10	\$800.00
O LOGITECH G PRO MECHANICAL GAMING KEYBOARD TKL, 920-009388	\$120.00	10	\$1,200.00
O LOGITECH G513 CARBON LIGHTSYNC RGB MECHANICAL KB WITH PALM REST, 920-009322	\$130.00	10	\$1,300.00
GAMING MOUSEPAD	OPTIONS		
O NO MOUSEPADS	\$0.00	1	\$0.00
GRAVITY GAMING XL 800mm x 300mm x 3mm	\$20.00	10	\$200.00
GAMING CONTROL	LERS	·	
NO CONTROLLERS	\$0.00	1	\$0.00
Microsoft Xbox Wireless Controller Cable - Bluetooth - USB - PC, Xbox One, Android, iOS, Xbox Series S, Xbox Series X - 9 ft Cable - Carbon Black	\$60.00	10	\$600.00
GAMING DESK OPTIONS			
NO DESKS	\$0.00	1	\$0.00
☐ GAMING DESK, SPECTRUM GG ESPORTS DESK, 44"x30" (Available in variety of colors)	\$450.00	10	\$4,500.00
□ CUSTOM GAMING DESK, SPECTRUM EVOLUTION ESPORTS DESK, 44"x30" (Available in variety of colors)	\$600.00	10	\$6,000.00

GAMING CHAIRS OPTIONS			
NO CHAIRS	\$0.00	1	\$0.00
GAMING CHAIR, SPECTRUM INDUSTRIES ESPORTS GENOVA CHAIR (Available in variety of colors)	\$350.00	10	\$3,500.00
GAMING CHAIR, SPECTRUM ESPORTS XPRESSION wCUSTOM LOGO (Available in variety of colors, Minimum of 5)	\$625.00	10	\$6,250.00
UPS AND SURGE PROTECTION OPTIONS			
☐ Tripp Lite Protect It! 8-Outlet Surge Protector 8 ft. (2.43 m) Cord 1440 Joules Black Housing - 8 x NEMA 5-15R - 1800 VA - 1440 J - 120 V AC Input	\$35.00	4	\$140.00
☐ Tripp Lite Pure Sine Wave Gaming UPS Battery Backup, 1500VA 900W 120V, Detachable LCD, Automatic Voltage Regulation, USB, RGB LED Lights,	\$300.00	4	\$1,200.00
BYTESPEED GAME CACHE SOLUTION			
GRAVITY GAMING GAME CACHE, 1U SERVER	\$2,499.00	1	\$2,499.00



Subtotal **\$22,950.00**

Tax \$0.00

Total \$22,950.00

PLEASE NOTE:

While it is our intent to honor the pricing on every quote we send as is, the pricing provided is based on current tariff rates and regulations. Any changes in applicable tariffs, duties, or import/export regulations prior to order fulfillment may impact the final pricing. ByteSpeed reserves the right to adjust the quoted price accordingly.

By signing this document, you confirm your intention to move forward with the purchase as outlined in the quote, thereby creating a legally binding agreement. This agreement also signifies your acceptance of ByteSpeed's standard terms and conditions.

AGREED TO AND ACCEPTED:			
			_



Apollo Gaming Desktop

Budget Friendly, Without Cutting Corners

The Gravity Gaming Apollo esports PC features your choice of Intel or AMD processors ready to rise to the occasion and provide you with excellent performance at an affordable price point. Paired with an ASUS graphics card, the Apollo is a great option for those looking for a solution built for gaming and streaming alike. The Gravity Gaming Apollo esports PC is backed by an industry-leading warranty and free lifetime US-based tech support.







GRAVITY GAMING

APOLLO GAMING DESKTOP

The Gravity Gaming Apollo esports PC features your choice of Intel or AMD processors ready to rise to the occasion and provide you with excellent performance at an affordable price point. Paired with a high end graphics card, the Apollo is a great option for those looking for a solution built for gaming and streaming alike.

The Gravity Gaming Apollo esports PC is backed by an industry-leading 5-year warranty and free lifetime US-based tech support.







AMDA RYZEN



System Specifications

Motherboard:	ASRock Pro 4 B550M (AMD) ASRock Pro RS B650M (AMD) ASUS PRIME B760M-A AX (Intel)
ASRock Pro 4 B550M CPU:	AMD RYZEN 5 5600x 6-Core (4.6GHz Boost)
ASRock Pro ASRock Pro RS B650M options:	AMD RYZEN 5 9600x 6-Core (5.3GHz Boost) AMD RYZEN 7 9700x 8-Core (5.5GHz Boost) AMD RYZEN 7 9800X3D 8-Core (5.2GHz Boost) AMD RYZEN 9 9900x 12-Core (5.6GHz Boost)
ASUS PRIME B760M-A AX options:	Intel Core i3-14100 4-core (4.7GHz Turbo) Intel Core i5-14400 10-core (4.7GHz Turbo) Intel Core i5-14600K 14-core (5.3GHz Turbo) Intel Core i7-14700 20-core (5.4GHz Turbo) Intel Core i7-14700KF 20-core (5.6GHz Turbo)
Memory:	Up to 128GB Kingston Fury
OS:	Windows 11 Pro or Home

Kingston Fury Renegade 500GB/1TB/2TB PCIE 4.0 M.2 Seagate 1TB/2TB 7200 RPM HDD
Intel Arc A750 8GB GDDR6 Intel Arc B580 12GB GDDR6 ASUS RTX 4060 8GB GDDR6 ASUS RTX 5070 12GB GDDR7
Be Quiet! Pure Rock 2 Black Be Quiet! Dark Rock Pro 5 Be Quiet! Pure Loop 2 240mm AIO
750W Fully Modular
Custom RGB LED Kit & Frosted Logo on Glass
Cooler Master NR400 16.18" x 8.27" x 16.18"
5 Year Desktop Warranty Free Lifetime US-based Tech Support

GAMING PC WARRANTY

We stand behind all of our products... guaranteed!

Gravity Gaming by ByteSpeed is committed to honoring and maintaining our warranty. Our account managers and support team work closely with you to quickly resolve any warranty issues.



Please report any issues to ensure all ByteSpeed products are working properly.

Contact Our Support Team:

Our support team is available Monday - Friday, 8am-5pm CST **Email:** helpdesk@bytespeed.com

Toll Free: 888.658.0715 **Local:** 218.227.0445

Website: bytespeed.com/support **Live Chat on** bytespeed.com

Reporting a Problem

- ► Contact ByteSpeed via phone, email, live chat, website form, or online ticket system (Vector Support Portal).
- ► Please use the ByteSpeed Serial number on the back of the machine to track replacements, parts, or warranty issues (EX: 20XX-XX-XXXX).
- Any problems occurring in the first 30 days of use can be reported as DOA. ByteSpeed will immediately fix or replace all DOA machines.
- ► Technicians can use ByteSpeed's online customer support system to submit repair issues, track repair issues, manage their inventory, look up PC configurations, and more. To request a support portal login, contact: helpdesk@bytespeed.com

5-year Gaming Desktop Warranty

Gravity Gaming by ByteSpeed esports desktops are backed by a 5-year warranty and free lifetime US-based tech support.

If your PC develops an issue that cannot be resolved over the phone, we will pay shipping costs both ways for warranty issues.

"Gravity Gaming by ByteSpeed has been awesome! They care about the customer and add the personal feel to customer service. Our esports program has taken a huge step forward working with their help. It is a blessing that we locked in a partnership with such GREAT people!"

- Kris Weissmann, University of South Carolina Sumter

What IS Covered Under Warranty?

- ► Defects in materials and workmanship
- ➤ Standard manufacturer's warranty applies to non-ByteSpeed branded hardware (EX: esports desks and chairs, partner devices, Spectrum laptop carts, etc.)
- ► Normal hardware failure

What is NOT Covered Under Warranty?

- Vandalism and intentional damage
- Theft or loss
- Improper use that is not in accordance with proper care (spills, drops, etc.).
- Acts of nature
- Accidental damage

Shipping Warranty Parts

- ► ByteSpeed guarantees all warranty issues are handled in a timely manner. Most warranty parts will ship the same day. Accelerated shipping is also an available option when needed for crucial situations.
- ► For ByteSpeed branded hardware, all warranty parts will ship with pre-paid return labels for the bad part to return to Bytespeed.
- ► For NON-ByteSpeed hardware, warranty shipping coverage depends on the manufacturer.
- ▶ ByteSpeed offers a custom parts closet option with large quantity orders. The parts closet is an extension of ByteSpeed's inventory, and is only to be used for maintaining and repairing ByteSpeed computers. As parts are used from the parts closet, customers need to follow the standard RMA process to replenish new parts for their parts closet. This helps eliminate down time and makes warranty requests easier for both ByteSpeed and our customers.













ESPORTS TESTIMONIALS



YOUR ESPORTS PARTNER FOR SUCCESS

Learn more about how we can help your esports program succeed: **bytespeed.com/gravitygaming**

"When I first contacted Gravity Gaming by ByteSpeed about starting an esports lab, their staff was prompt and helped us every step of the way! Since then, we have ordered hundreds of GG PCs for our esports team, computer class labs, teachers, and administration staff. All of our GG PCs came fully customized, from top of the line specs down to perfect cable management within the cases. Their staff responds incredibly fast to every communication, and has made the process for our PC needs flawless. I can't wait to work with Gravity Gaming to build our second esports lab!" — *Kevin Koncsol, Warren City School District, OH*

"Davenport's esports programs are incredibly grateful to Gravity Gaming by ByteSpeed for their support and guidance as we take our program to the next level. We appreciate that it's not just about making the sale, but instead, ensuring we have the right equipment for where our esports program is now and where we want to go. The GG team has excellent knowledge of both the tools we need to be successful and how a school system works!" — *Ali Vandermyde*, *Davenport CSD*, *IA*

"I have worked with ByteSpeed for years and cannot say enough good things about them. I trust their team to meet the needs that I have from a robust computer science classroom, to a competitive esports arena, and even our state-of-the-art virtual production studio. They are able to hand every challenge I throw at them, seek solutions, and supplement my knowledge. They don't try to sell you something you don't need, and they go the extra mile to make sure any problems are fixed. I suggest ByteSpeed to anyone who wants a partner for technology that will last as long as possible under the consistent use of students who run their computers to their max."

- Karen Ruggles, DeSales University, PA

"I just wanted to express Davenport University's and Davenport Esports' appreciation and gratitude for the new computers we received a couple of weeks ago. We are extremely happy with the quality of the products and very appreciative for the timely delivery of them. I have been super impressed and I am extremely satisfied with ByteSpeed's quality, attention to detail, and attentive customer service. I will absolutely be recommending Gravity Gaming by ByteSpeed to my colleagues at other institutions. I am looking forward to making our PC purchases with ByteSpeed again in the future."

— Noah Antor, Davenport University, W.A. Lettinga Campus, MI





ESPORTS REFERENCES

HIGH SCHOOLS

BENTONVILLE SCHOOL DISTRICT, AR

Aaron Nickles, 479.254.5050

GLASTONBURY SCHOOL DISTRICT, CT

Bruce Yonoski, 860.652.7961

MCINTOSH COUNTY SCHOOL DISTRICT, GA

Rusty Boone, 912.437.8950

CEDAR RAPIDS SCHOOL DISTRICT, IA

Jason Lester, 319.558.2000

JOHN GLENN SCHOOL CORPORATION, IN

Daniel Medesi, 574.586.3184 x6213

LITTLE FALLS SCHOOL DISTRICT, MN

Nathan Selby, 320.632.2015

WEBB CITY SCHOOL DISTRICT R7, MO

Adam Bell, 417.673.6010

FARGO PUBLIC SCHOOLS, FARGO, ND

Ullrich Reichenbach, 701.446.2283

MCCOOL JUNCTION PUBLIC SCHOOLS, NE

Chris Nieveen, 402.724.2231

ALBUQUERQUE PUBLIC SCHOOLS, NM

Laurie Lehman, 505.830.6846

CANTON CITY SCHOOL DISTRICT, OH

Tamiko Hatcher, 330.438.2538

ADA PUBLIC SCHOOLS, OK Celena Galbreaith, 580.310.7218

MULTNOMAH EDUCATION

SERVICE DISTRICT, ORDavid Cramblett, 503.257.1535

TAMAQUA AREA SCHOOL

DISTRICT, PA

Kenny Dunkelberger, 570.668.2570 x1020

CLARKSVILLE-MONTGOMERY COUNTY SCHOOLS, TN

David Holman, 931.920.7944

COLLEGES

HUNTINGDON COLLEGE, AL

Ryan Doyle, 512.289.2688

UNIVERSITY OF ARKANSAS, AR

Elizabeth Cunningham, 479.387.3843

FLORIDA INSTITUTE OF TECHNOLOGY, INC., FL

Danielle Sirekis, 248.605.5585

NORTHWESTERN COLLEGE, IA

Cole Prescott, 319.939.8622

UNIVERSITY OF ILLINOIS AT CHICAGO, IL

Matt Miller, 312.523.8780

PURDUE UNIVERSITY NORTHWEST, IN

Shadow Chanthadouangsy, 423.381.2639

UNITED STATES NAVAL ACADEMY, MD

Carlos Ramos, 803.397.2373

MICHIGAN STATE UNIVERSITY, MI

Chris Bilski, 616.914.6321

MINNESOTA STATE
UNIVERSITY MANKATO, MN

Levi Arnet, 619.750.2154

COLUMBIA COLLEGE, MO

Aaron Shockley, 573.875.7748

UNIVERSITY OF JAMESTOWN, ND

Chris Hoke, 701.252.3467 x5602

MIDLAND UNIVERSITY, NE

Adrienne McIntire, 603.238.7862

UNIV. OF MOUNT UNION, OH

Austin Digby, 330.829.6623

DESALES UNIVERSITY, PA

Karen Ruggles, 610.849.6579

UNIV. OF TEXAS DALLAS, TX

Joshua Buchanan, 972.883.6520